
T2 T3

2V 2V 2V

10Ω
S1 S2 S3 S4

T1 T4

2V

VDD

> 0V

Segment 2 NOT
biased

= 0V

IITT
11

==
22VV

//((33
00ΩΩ

++11
55ΩΩ

++55
ΩΩ

))==
4400

mm
AA

IITT
11

==
00mm

AA
((dd

uuee
ttoo

lloo
ww

VV
IINN

))

= 2V = 0.857V

Segment 1 FULLY
biased

T2 T3

2V 2V 2V

RS1
30Ω 10Ω

S1 S2 S3 S4

T1 T4

2V

VDD

> 0V

Segment 2
PARTIALLY biased

= 0V

IITT
11

==
((22

VV
––11

VV
))//33

00ΩΩ
==

3333
mm

AA

IITT
11

==
5500

..55
mm

AA

= 2V = 1.0V

Segment 1 FULLY
biased

T2 T3

2V 2V 2V

10Ω
S1 S2 S3 S4

T1 T4

2V

VDD

> 0V

Segment 2 FULLY
biased

> 0V

IITT
11

==
((22

VV
––22

VV
))//33

00ΩΩ
==

00mm
AA

IITT
11

==
1133

33mm
AA

((ffuu
llll

rree
gg))

= 2V = 2V

Segment 1 FULLY
biased

RS2
15Ω

RS3
5ΩSuperposition

RS1
30Ω

RS2
15Ω

RS3
5Ω

RS1
30Ω

RS2
15Ω

RS3
5Ω

Regulator 1
CHOKED OFF

Regulator 1
REGULATING

Regulator 2
SATURATED ON

Input voltage is high enough to
fully bias segment 2. Regulator 2
is out of saturation and regulating.  
S2 at regulation point (2V) leaves
no residual voltage for S1,
choking-off regulator 1.

Regulator 2
REGULATING

Regulator 1
REGULATING

Regulator 2
ON but

NOT CONDUCTING

Input voltage is high enough to
partially bias segment 2. Pin S2
below regulation point leaves
residual voltage for S1. This
allows regulator 1 to continue
regulating as segment 2 comes
up to speed.

Input voltage is high enough
to forward bias segment 1 but
not enough to even partially
bias segment 2.

CL880x Self-Commutating Operation
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In cases where adjacent
regulators have the same
setpoint, additional circuitry
in the CL880x shuts off the
upstream regulator when
the downstream regulator
achieves regulation.


